Name:

Weekly Homework Sheet Week 8

Date:

Monday

Tuesday

Wednesday

Thursday

What is the value of the
underlined digite

1,711,799 4,882,217

What is the value of the
underlined digite

7,273,779 4,203,280

What is the value of the
underlined digit?

7,401,079 1,732,902

What is the value of the
underlined digit?

1,378,409 8,384,281

Draw an array to represent
the problem 3 x 9

Draw an array to represent
the problem 5 x 3

Draw an array to represent
the problem 5 x 8

Draw an array to represent
the problem 7 x 4

Round this number to the
nearest 100

Round this number to the
nearest 1,000.

Estimate then Multiply

Estimate then multiply

4 x 567 = 3x4213 =
38,288 2,042,822
Find the Sum. Find the Difference. Find the Sum. Find the Difference.
12,490 4,205 29,867 29,867
+ 3,941 - 3,874 +14,938 - 14938
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Find the product.

5x6=30
5x60 =
5x 600 =
5x 6,000 =
5x 60,000 =

Find the product.

4x6=24
4x 60 =

4 x 600 =

4 x 6,000 =
4 x 60,000 =

Find the product.

?x3=27
?x30=

9 x300 =

9 x 3,000 =
9 x 30,000 =

Find the product.

8x4=232
8x40=

8 x 400 =

8 x 4,000 =
8 x 40,000 =

Multiply using the
distributive property
EXAMPLE:

4x14=
4x(7+7)=
4x7 =128
4x7 =128
28 + 28 = 46

Multiply using the
distributive property.
(Example to the left)

6x18=

Multiply using the
distributive property.
(Example to the left)

/7x15=

Multiply using the distributive
property. (Example to the
left)

9x16=

Multiply using the

expanded form method.

EXAMPLE:

4x 145 =

4x (100 + 40+ 5) =
4 x 100 = 400
4x40= 160
4x5= 20

400 + 160 + 20 = 580
4 x 145 =580

Multiply using the

expanded form method.

(Example to the left)

5x197 =

Multiply using the expanded
form method.
(Example to the left)

3x24=

Multiply using the expanded
form method.
(Example to the left)

4x 1,543 =
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Answer Key - Weekly Homework Sheet Week 8

Monday

Tuesday

Wednesday

Thursday

What is the value of the underlined
digit?

1,711,799 700,000

4,882,217 200

What is the value of the underlined
digit?

7,273,779 70,000

4,203,280 80

What is the value of the underlined
digit?

7,401,079 7,000,000
1,732,902 2

What is the value of the underlined digit?
1,378,409 8,000
8,384,281 80,000

Draw an array to represent the
problem 3 x 9

Draw an array to represent the
problem 5 x 3

000
000
000
000
000

Draw an array to represent the
problem 5 x 8

XXXXXXXX
XXXXXXXX
XXXXXXXX
XXXXXXXX
XXXXXXXX

Draw an array to represent the problem 7
x4

XXXX
XXXX
XXXX
XXXX
XXXX
XXXX
XXXX

Round this number to the nearest 100

38,288
38,300

Round this number to the nearest
1,000.

2,042,822
2,043,000

Estimate then Multiply

4x 567 =
4 x 600 = 2,400

Estimate then multiply

3x4213 =
3 x 4,000 = 12,000
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Find the Sum.
12,490
+ 3,941

16,431

Find the Difference.

4,205
-3,874
331

Find the Sum.
29,867
+14,938
44,805

Find the Difference.

29,867
- 14,938
14,929

Find the product.

5x6=30

5x 60 =300

5 x 600 =3,000

5 x 6,000 =30,000

5 x 60,000 = 300,000

Find the product.

4x6=24

4 x 60 = 240

4 x 600 = 2,400

4 x 6,000 =24,000

4 x 60,000 = 240,000

Find the product.

?x3=27

9 x30 =270

9 x 300 = 2,700

9 x 3,000 = 27,000

9 x 30,000 = 270,000

Find the product.

8x4 =32

8 x 40 = 320

8 x 400 = 3,200

8 x 4,000 = 32,000

8 x 40,000 = 320,000

Multiply using the distributive

property
EXAMPLE:

4x14=
4x(7+7)=
4x7 =128
4x7 =128
28 + 28 = 46

Multiply using the

distributive property.

(Example to the left)

6x18=
6x(?2+9)=
6x9 =054
6x9 =054

54 + 54 =108

Multiply using the distributive
property. (Example to the
left)

/7x15=
7x(10+5) =
7x10=70
7x5=35
70+ 35=105

Multiply using the distributive
property. (Example to the left)

9x16=
9x(10+8) =
9x10=90
9x8=72
90+72=162

Multiply using the expanded
form method.

EXAMPLE:

4x 145 =

4x (100 + 40+ 5) =
4 x 100 = 400
4x40= 160
4x5= 20

400 + 160 + 20 = 580

Multiply using the

expanded form method.

(Example to the left)

5x197 =
5x(100+90+7) =
5x 100 =500

5x 90 =450
5x7=35

500 + 450 + 35 = 985

Multiply using the expanded
form method.
(Example to the left)

3x24=
3x(20+4) =
3x20 =460
3x4=12
60+12=72

Multiply using the expanded
form method.
(Example to the left)

4x 1,543 =

4x (1,000 + 500 +40 +3) =
4 x 1,000 = 4,000

4 x 500 = 2,000
4 x40 =160
4x3=12

4,000 + 2,000 + 160 + 12 = 6,172

© One Stop Teacher Shop



